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P(l)+P(2)+P(3)+P(4)+P(5)+P(e.:..‘
Pl +2e(d+ {3+ #(}+ 5+ 6(p=
P(1):2i1-,P(2):?21;P(3 :731
P(a)=2p(8)=2P( =,
iR ad) Jsgd s A Gasl 2
P(4)=p(1)+P(3)+P(5
P(A):2—1

89

A Js oy Al p e e pn gulsdl albisl e
bualh pap n Ao gl
n—n—Df]E—n—n - C o xC iy, X MXCy,
p fois
- 44
2 s sgiad MIAJSMMIAZU.\GUA\J&\4&JJA_
buatly (al 8
2-2.C% =6
12-34
CZ
13- 244 x 2=—4x2
14- 23
s il MhdSumuhlAZéDua\ﬁ\G&Jy-
huatly Gal 8 3
3-3.C2 =20
123- 45
124- 35
125- 34
126- 34
—_ 3
134- 25 ><2:C_G)<2
135- 24 2
136- 24
145- 23
146- 23
156-124
s s LA 8 Cuay clila 3 e gal B 6 @) -
hualy gal A 2
2-2-2 LCZxC? =90
12— 34 54 12 36 P 35 46
13-26-43 , - -
14-25- 3€>§6x3!+ —2 x3H 3 —x3
15-24- 34
16-23-45
A s siai LA JS Guay clild 4 e Gal B 8 g -
byally pal A 2
2-2-2-2 - CZxCZxC} = 2520
e s siai LA JS Guay clild 2 e Lal B 8 g -
byally gal A 4
4-4 —»C; =70
23 G
D5 CNLa) Euny 6 ) 1 (e dad e Ab g2 g 11 (e
Ledaad Al A Y ae dsiliia 4 529
49 S osgh Juial a1





